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8 Marks Questions (8 eÖsÁTØ\ ç|�Xø�\T)

1. (a)

Analyse the given graph  (OR)

¹sU²ºçÔ��� #á~$, $Xâ¢w¾+#á+&�. (ýñ<�)

(b) Answer the following questions by looking the graph.

�eÇ�&�q ç|�Xø�\Å£� d�eÖ<ó�H�*eÇ+&�.

1. Which was the largest producing sector in 1973-74?

1973`74 d�+ööýË n~ó¿£ �ÔáÎÜï �q� sÁ+>·+ @~?

2. Which is the largest producing sector in 2013-14?

2013`14 ýË n~ó¿£ �ÔáÎÜï �q� sÁ+>·+ @~?

 3. Can you say which sector has grown the most over forty years?

>·Ôá 40 d�+öö\ýË @ sÁ+>·+ mÅ£�Øe>± e�~Æ #î+~q<Ã MTsÁT #î|�Î>·\s�?

 4. What was the GDP of India in 2013-14?

2013`14ýË uó²sÁÔá<ûXø d�Ö�\ C²rjîÖÔáÎÜï m+Ôá?

2. Sectors of the Indian Economy
uó²sÁÔá<ûXø �]�¿£ e«ed�� sÁ+>±\T

Graph 1 : GDP by Primary, Secondary and
Tertiary  Sectors

¹sU²ºçÔá+:1 çbÍ<¸�$T¿£, ~ÇrjáT eT]jáTT Ôá�rjáT sÁ+>±\

y�¯>± d�Ö�\ <ûojîÖÔáÎÜï

 ~ÇrjáTçbÍ<̧�$T¿£  Ôá�rjáT
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2. Table 2.3 workers in different sectors.
Sector Organised Unorganised Total

Primary        1 232

Secondary      41       74 115

Tertiary      40       88 128

Total      82

Total in
percentage 100%

Answer the following questions:
1. What is the percentage of people in the unorganised sector in Agriculture?
2. Do you agree that agriculture is an unorganised sector activity? why?
3. If  we look at the country as a whole, we find that _____% of the workers in India are

in the workers in India are in the unorganised sector?
4. Organised sector employment is available to obly about _____% of the workers in

India?
|�{ì¼¿£ 2.3 $$<ó� sÁ+>±\ýË >·\ ¿±]�Å£�\T ($T*jáTq¢ýË)

sÁ+>·+ e«edÓ�¿£sÁD ne«edÓ�¿£sÁD yîTTÔáï+

çbÍ<̧�$T¿£       1 232

~ÇrjáT      41     74 115

Ôá�rjáT      40     88 128

yîTTÔáï+      82

yîTTÔáï+ XæÔá+ 100%

ç¿ì+~ �eÇ�&�q ç|�Xø�\Å£� d�eÖ<ó�H�*eÇ+&�.

1. e«ekÍjáT+ýË ne«edÓ�¿£�Ô� sÁ+>·+ýË |��#û�d y�] XæÔá+ m+Ôá?

2. e«ekÍjáT+ ÿ¿£ ne«edÓ�¿£�Ôá ¿±sÁ«¿£ý²|�eT� MTsÁT n+^¿£]kÍïs�? m+<�TÅ£�?

3. <ûXø+ yîTTÔ�ï�� |�]o*�dï uó²sÁÔá<ûXø+ýË .....% eT+~ ¿±]�Å£�\T ne«edÓ�¿£�Ô�sÁ+>·+ýË �q�³T¢ eTq+

>·T]ï+#áe#áTÌ.

4. uó²sÁÔá<ûXø+ýË ....... % eT+~ ¿±]�Å£�\Å£� eÖçÔáyûT e«edÓ�¿£�Ôá sÁ+>·+ýË �bÍ~ó n+<�Tu²³TýË �+~.

3. Convert the given table in to bar graph.
�ºÌq |�{ì¼¿£qT ¿£MT�¹sU² ºçÔáeTTýË�¿ì eÖsÁÌ+&�.

Year Primary Secondary Tertiary
d�+eÔáàsÁ+ çbÍ<̧�$T¿£ ~ÇrjáT Ôá�rjáT

2000 52000 48500 133500

2013 800500 1074000 3668000
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